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QUESTION 1

What is the most optimized way to pass data between jobs?
A. Storing data in XML.

B. Storing data in text files.

C. Storing data in parallel datasets.

D. Storing data in indexed database tables.

Correct Answer: A

QUESTION 2

What rule file parses data to the output file?
A. PAT

B. CLS

C.DCT

D. PRS

Correct Answer: D

QUESTION 3

If a One-source match identifies four match groups with each match group having three duplicates, how many
survivorship output records will there be if you used the match group as the group identification column?

A. 3
B.4
C.6
D. 12

Correct Answer: B

QUESTION 4

In order to accomplish Word Investigation in a single QualityStage job, how many investigate stages would be required
for the following fields:

PREFIX, FIRST_NAME, LAST_NAME. SUFFIX. ADDRESSJI. ADDRESS_2, ADDRESS_3, CITY, STATE.
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andZIPCODE?
A. Ten.

B. Five.

C. Three.

D. Seven.

Correct Answer: A

QUESTION 5

What would happen if a special character is included in the SEPLIST and not in the STRIPLIST?

A. That special character will be ignored.

B. You will get an error when you test a statement.

C. The token class for that character becomes the character itself.

D. You need to enclose in double quotes any special characters in the SEPLIST that is not in the STRIPLIST.

Correct Answer: C
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